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Exercise 1) Rotations on the Bloch sphere
Using a Taylor expansion it can be checked easily that
exp(:ti%é’- 7) = cos(%)ﬂ +i(€- o) sin(%) .

Furthermore it is straightforward to check that

(b-3) = (a@-b)l +ic -

—~
ST
A =
S—

)1 — isin(%)é’- ) (T 5)(cos(g)]l + isin(%)é’- 7)

2
)(€- )
(

o
o

<L
QL
=
=

+ i cos(

OO Q

)sin(5)((#-7)(e- &) — (&

To evaluate the second term we calculate

(€ 5)(T-5)(E )= ((€-0)L+id - (€x 0)(E &) = (&) F) +i(&- (€x V)€ F)
= (€ 0)(E- &) +i(((ExT) &) +iF - ((€x V) x &)
= (-0 F) -G (ExT)x&) = ((€- )+ (Ex (Ex 7)) &
= ((€- D)+ e v)— (e ) &= (2e 0)E—1)- 5.

For the third term we can get

(#-6)(E 3)— (6-6)(T-3) = (Tl +i5 - (T x &) — (€- 7)1 +i5 - (¢ x 7))

= 2i(Ex D).

Putting everything together we get

But by Rodrigues’ rotation formula we have
R(€, )T = Ucos(a) + (€ x ¥) sin(a) + €(€'- ¥)(1 — cos(v)) .

This concludes the proof.

Exercise 2) Quantum Teleportation

1. Before Bob receives the classical bit from Alice, the reduced density matrix on Bob’s side
can be calculated to 1/2 (i.e. he does not have any information about the state to transmit).
Hence teleportation does not allow to transmit quantum states faster than light.

2. Since the teleportation protocol is linear and any mixed state input can be decomposed
into its eigendecomposition p =Y. p;|i)(i|, the protocol also works for mixed states.

11. Oktober 2010 Page 1



Symmetries in Quantum Information Theory Prof. Matthias Christandl, Mario Berta
Sample Solution 2 ETH Zurich, HS 2010

3. No, in general this is impossible because Alice does not know the state 1) of the qubit she
has to send to Bob and the laws of quantum mechanics prevent her from determining the
state when she only has a single copy of [¢) in her possession. And even if she did know
the state, describing it precisely takes an infinite amount of classical information since |¢)
takes values in a continuous space. So if she did know |¢), it would take forever to send
the state to Bob.

4. The crucial point is that only the target qubit at Bob’s side is left in the state [¢)). The
reduced density matrix on Alice’s side after the protocol can be calculated to |0) or [1),
depending upon her measurement result. That is, the information about the state |¢) is
no longer on Alice side, but it has been transferred to Bob’s side.

Exercise 3) Entanglement Swapping

Notation: |¢*) := %(|00> +|11)) and |[¢*F) = %(\OD +]10)). Let’s call the qubits of Alice and

Bob that we wish to entangle A and B resp. and let them start in maximally entangles states
with auxiliary qubits C1 and Cy at Charlie:

lpin) = |0 ) ac, @ 9B

1
= 5[\00>AB ®|00)cy 0, + [01) 4B @ [01)cy 0 + [10) B @ [10) 0,0 + [11) aB ® [11) 0]

= L 1100)45 ® (6 a0y + [67)cnes) + 11 an ® (67 crcn — 167 )cncn)

22
+ |01>AB X (|w+>01C’2 + ‘¢_>C'102) + |1O>AB ® (‘¢+>C’102 - |¢_>C1C'2)]
= 516745 @ 6% cres + 167 ap ©167)cncs
+ |sz)+>AB X ‘w+>0102 + |¢_>AB & ‘¢_>Cch} .

Now Charlie can perform a projective measurement in the basis {|¢*),[1/*)} on his subsys-
tem C;C5. Thereby the subsystem AB is projected in one of the maximally entangled states
{|¢%), [¥*)}, each with probability 1. Afterwards Charlie sends the measurement outcome to
Bob, who can then apply a local unitary to transform the state on AB into any desired maximally
entangled state (as in the teleportation protocol).

One could also say, that we can teleport the state on AC; to Bob, using the ebit on CsB.

This is a useful procedure to generate entanglement between two (possibly widely separated)
systems. Note that there is no interaction between Alice and Bob.

Exercise 4) Representations of SU(2)

We need to show [vg(0;), vk(0;)] = vg[oi, 04] for all 4, j € {+, —, z}. Since [0}, 0] = —[0},04], all
commutators that we have to consider can be calculated to [o04,0_] = 03, [0:,04+] = 204 and
[0,,0_] = —20_. We calculate the first case and get

’Uk([UJmU—])\ka = ’Uk(Uz)’kal) = (2l - k)’k7l>

11. Oktober 2010 Page 2



Symmetries in Quantum Information Theory Prof. Matthias Christandl, Mario Berta
Sample Solution 2 ETH Zurich, HS 2010

as well as
[vk(o 1), vk(o-)]Ik, 1) = vi(oq )or(o-) |k, 1) — vk(o—)v(o4)[k, D)
=vk(o)VIk =1+ )|k 1 —1) —vp(o- )/ (E=D(+ )|k, 1+ 1)
=VIk =14+ Dvg(op)|k, 1 =1y —/(E =1+ Vog(o-)|k, I+ 1)
=Uk—-1+D|k ) — (k=04 1)k 1) = (20— k)|k,1) .

Likewise for the other cases.

First notice that o, = 04 + 0_ and oy = i(0— — o). This implies

D onlon)op(ollk, 1) = [(vr(02))* + (vr(0y))® + (vk(02))?] Ik, 1)

%

= [(or(os +0-))% + (vrio— —ioy)) + (ve(02))?] |k, 1)

= [(or(o4) + vi(0-))* = (vk(0-) — vr(04))? + (v (02)) ][k, 1)
= [2ug(o4)vp(o-) + 2vk (0 )vg(ot) + vg(oz)vk(02)] |k, 1)

= 2ug(04)ve(0-) |k, 1) + 2vk(0-)vk(o4 )|k, 1) + vi(o2)vk(o2)|k, )

Proof by induction. We have |k + 1,k + 1) = |k, k)|1,1), and applying the lowering operator
vg+1(0—) to this we get

k 1
1 =4\/— - 1)|1,1 —_— 1 .
ke 1k) = [ ol k= DIL D) + [ =k R)IL0)

This is the basic step. Now assume that the claim holds for some [, that is

P
k1.0 = k= DL + + k= o,

The inductive step is done by applying vy (o _) to both sides of this equation. For the LHS we

get
vp(o Nk + 1,0 = Ik —1+2)|k+1,1-1).

For the RHS we get

(o) I = DIL D + k+1 k= oy
= J e ) k- 1) + ’“,ﬁllkwxm,wu,o»
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k+1
Combining this we get

-1 kE—142
7+|k;l

This concludes the proof.
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